
 
 

-12 -11 -10 -9 -8 

 -7   -6   -5 -4 -3 

 -2   -1    0 1 2 

 3   4    5 6 7 

 8   9    10 11 12 

4x + 3 = 23 

2x – 10 = -32 

-4x + 1 = -27 

6x – 2 = -20 

! 

x
2

+ 8 = 6  

Solve each two-step equation on a separate sheet of paper. Color in the box with that answer according to the 
patter next to the problem. You should get each answer (-12 to 12) ONLY once! 

-5x – 5 = 30 

-x + 3 = -8 

-7x – 4 = -25 

8x – 20 = 28 

! 

x
3

+ 2 = 5  

8x +1 = 1 

! 

x
5
" 7 = "8  

-5x + 10 = -10 

3x + 3 = -24 

-7x – 2 = 40 

2x – 9 = 15 

-4x – 4 = 0 

! 

x
4

+ 5 = 2  

! 

x
2
" 7 = "3  

-8x – 24 = 40 

-9x + 9 = 0 


